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Posthumous Publication occurs when a book is published after the author's death. Which situation below is the best example of
Posthumous Publication?
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{a) Richard's illness took his life before he could enjoy his novel's amazing early reviews.
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(b) Melissa's publisher cancels her book contract after she fails to deliver the manuscript on time.
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(c) Clarence never thought he would live to see the third book in his trilogy published.
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(d) Elizabeth is honored with a prestigious literary award for her writing career and her daughter accepts the award on behalf
of her deceased mother.

Correct Option(s): A
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The total of ages of Amar, Akbar and Anthony is 80 years. What was the total of their ages three years ago?

(A) (@ 71 a
(a) 71 years

(B) @) 7294
(b) 72 Years

(©) @M 74 T
(c) 74 Years

(D) (9) 77 3¢
(d) 77 Years

Correct Option(s): A
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Eight people are planning to share equally the cost of a rental car. If one person withdraws from the arrangement and the
others share equally the entire cost of the car, then the share of each of the remaining persons increases by:

(A) (P) 1/7
(a) 1/7

(B) (@) 1/8
(b) 1/8

(C) @M 1/9
(c) 1/9

(D) (&) 7/8
(d) 7/8

Correct Option(s): A
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Look at the following jumbled sentence:

When he

P : did not know

Q: he was nervous and

R: heard the hue and cry at midnight

S: what to do

The proper sequence for the jumbled sentence should be:

(A) (@) IR TG ATy
(a) RQPS

(B) (@) T Ul T 3R
(b) QPSR

(©) () T W 3R
(¢) SQPR

(D) (8) WY 3R TH
(d) PQRS

Correct Option(s): A
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The difference between the expected value of a statistic and the value of the parameter being estimated is called a:

(A) (@) AF® 3T
(a) Standard error

(B) () GaUg

(b) Bias

(C) (1) TAIBRO A

(c) Sampling error

(D) () TR-THAIBR Ffe

(d) Non-sampling error

Correct Option(s): A
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The logic which uses known results, definitions and rules of inference to prove something is called:
1. Deductive Logic

IL. Inductive logic

Which of the following is correct for the above statement:

(A) (F) Had 1
(a) Ouly 1

(B) (@) Sadl 11
(b) Only I
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(c¢) Neither I nor II

D) (91 AR 1A

(d) Both I and IT




Correct Option(s): A
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A certain number of persons are sitting in a row facing in the North direction. Four persons are sitting between P and Q. F sits
second to the right of Q. One person sits between F and S. S sits at eight position from one of the extreme ends. D sits third to
the right of 8. H sits fifth to the left of Q. Eight persons are sitting to the left of Q.

What is the maximum possible number of people sitting in a row?

(A) (@) 9
(a) Twenty

(B) (X9) dIg¥
(b) Twenty two

(©) (M) By
(c) Twenty six

(D) (%) T
(d) Twenty five

Correct Option(s): A
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How many meaningful English words can be made with the letter ONDE using each letter only once in each word.

(A) (®) BIS TgT

(a) None

(B) (9) Ud
(b) One

©@ma
(c) Two

@) (@) fH
(d) Three

Correct Option(s): A
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Thick is related to Thin in the same way as Idle is related to :

(A) (@) HETaR]

(a) Virtuous

(B) (@) AR
(b) Business

(C) @) I

(¢) Industrious

(D) (&) Tfafafy

(d) Activity
Correct Option(s): A
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Choose the odd one out which does not share common relationship as others do :
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(A) (®) KUD : BIgd
(a) Cletk : File

(B) (@) Ibid : Haifdhal

(b) Lawyer : Client

(C) (1) STaex ; At

(¢) Doctor : Patient

(D) () PR : UTgd
(d) Shopkeeper : Customer

Correct Option(s): A
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Arrange the given words in a meaningful sequence and choose the correct sequence from the options given:
Series : 1 — Sending, 2 — Encoding, 3 — Receiving, 4 - Decoding

(A) (@) 2,4,3.1
(a) 2.4.3.1

(B) (9)4.2.1,3
(b) 4,2,1.3

(©) (M) 1,2,3.4
(c) 1.2,3.4

(D) (¥) 2.1,3.4
(d)2,1,3.4

Correct Option(s): A
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A train runs 120 km in the west direction, 30 km in the south direction and then 80 km in the east direction before reaching the
station. In which direction is the station from the trains’ starting point?

(A) (P) alamr-afyg

(a) South-West

(B) (W) IR-UfEH
(b) North-west

(©) (M &fgugd

(c) South- East

(D) (9) &féor
(d) South

Correct Option(s): A
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A daily wage labourer was engaged for a certain number of days for Rs. 5750, but being absent on some of these days he was
paid only Rs. 5000. What was his maximum possible daily wage?

(A) (@) 125 3T
(a) Rs. 125

(B) (@) 250 344
(b) Rs. 250

(C) @T) 375 TG
(c) Rs. 375

-



(D) () 500 ¥4
(d) Rs. 500

Correct Option(s): A

14. Uh Afdd gR1 a1 711 1 Ul s o | RIAT g1 el ¢ | afg S I 1990, 1995, 2000 3R 2005 H TS a¢
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A man’s investment doubles in every 5 years. If he invested Rs. 5000 in each of the years 1990, 1995, 2000 and 2005, then
what was the total amount received by him in 20107

(A) (@) 30000 TTY
(a) Rs. 30000

(B) (W) 70000 T
(b) Rs. 70000

(C) (1) 140000 T
(c) Rs. 140000

(D) (9) 150000 TTL
(d) Rs. 150000

Correct Option(s): A
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Renu’s father was 38 years of age when she was born while her mother was 36 years old when her brother 4 vears younger to
her was born. What is the difference between the age of her parents?

(A) (@) 2T
(a) 2 years
(B) (T) 4 T¢
(b) 4 years

©Meay
(c) 6 years

(D) (4) 8 I
(d) 8 years

Correct Option(s): A

16. U T ¥ 40% BHAR] &d] U 8, 29 H F 509 Wad (I9Ue) ¢ R A9 a9 180 A RIS (TS UTe)
¢ | WIde DHAIE ol G faa 32

In a certain organization, 40% employees are matriculates, 50% of the remaining are graduates and the remaining 180 are
post-graduates. What is the number of graduate employees?

(A) (@) 180
(a) 180

(B) (9) 240
(b) 240

(€) @) 300
(c) 300

(D) () 360
(d) 360

Correct Option(s): A
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A starts business with Rs 3500 and after five months, B joins with A as his partner. After a year, the profit is divided in the
ratio of 2:3. What is B’s contribution in the Capital?



(A) (@) 7500 TG

(a) Rs. 7500

(B) (@) 8000 ¥YY
(b) Rs. 8000

(C) () 8500 ¥4
(¢) Rs. 8500

(D) (5) 9000 TYY
(d) Rs. 9000

Correct Option(s): A
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There is 60% increase in an amount in 6 years at simple interest. What will be the compound interest of Rs. 12.000 after 3
years at the same rate?

(A) (@) 2160 3T
(a) Rs. 2160

(B) () 3120 344
(b) Rs. 3120

(C) @T) 3972 ¥4
(c) Rs. 3972

(D) (9) 6240 Y
(d) Rs. 6240

Correct Option(s): A

19. Uh $U DI GaTg DI S g Sl fb 22,5 HIeX TR0 BT 31 e o4 (S/HieR) 7 Hiex BT S9! 3iaRa
PP (@9S) Yde B WRER 3 3T Ul 1f fiex @} ax A U oI & IS9P Tl 7 9T eI |

A well has to be dug out that is to be 22.5 m deep and of diameter 7 m. Find the cost of plastering the inner curved surface at
Rs 3 per sq meter.

(A) (@) 1465 ST
(a) Rs. 1465

(B) (@) 1475 Y4
(b) Rs. 1475

(C) (M) 1485 ¥UY
(¢) Rs. 1485

(D) (I 1495 TG
(d) Rs. 1495

Correct Option(s): A

20.
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There are 20 people working in an office. The first group of five works between 8 am to 2 pm. The second group of ten works
from 10 am to 4 pm and the third group of five works between 12 noon and 6 pm. There are 3 computers in the office which
all the employees frequently use.

During which of the following hours, the computers are likely to be used the most?
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(A) () 2:00 991 UG Y 4:00 g9 ARG
(a) 2:00 pm to 4:00 pm

(B) (F) 12 991 GIUGR ¥ 2:00 901 WG

(b) 12 noon to 2:00 pm

(©) () 1:00 91 3URTE ¥ 3:00 T ARG
(e) 1:00 pm to 3:00 pm

(D) (8 10 9 Gaig ¥ 12 §ol G

(d) 10 am to 12 noon

Correct Option(s): A
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L. 33 o feTY sl Bior (@Eﬁ UITeT) 1 3B B The below pie chart shows the sale of different fruits in a day for a

shop:

Answer the following questions based on the pie chart:

I If a total of 1200 kg of fiuits were sold in a day, calculate the amount of bananas sold (in kg)

II. Find the difference between sale of grapes and oranges. III. Calculate the central angle for others.

Columnl

M others
® orange
# apple
W Grape

# Banana

(A) (@) 360, 60 3R 72 {Zh
(a) 360, 60 and 72 Degree

(B) (@) 355, 70 31X 62 &7t
(b) 355,70 and 62 Degree

(€) @1 350, 50 AR 82 fS
(c) 350, 50 and 82 Degree

(D) (9) 340, 45 371X 90 S
(d) 340, 45 and 90 Degree

Correct Option(s): A
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In a college, 200 students are randomly selected. 140 like tea, 120 like coffee and 80 like both tea and coffee.

In the light of above statement, please answer the following:

I. How many students like only tea?

II. How many students like only coffee?

II1. How many students like neither tea nor coffee?

IV. How many students like only one of tea or coffee?

V. How many students like at least one of the beverages?

(A) (@) 60; 40; 20; 100; 3R 180
(a) 60; 40; 20; 100; & 180

(B) () 50; 50; 40; 110; 3R 170
(b) 50: 50; 40; 110: & 170

(C) (1) 70; 40; 30; 100; 31X 150
(c) 70; 40; 30; 100; & 150

(D) (9) 50; 40; 50; 110; 3 280
(d) 50; 40; 50; 110; & 280

Correct Option(s): A
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Read the following information and answer the question which follows:

“The upcoming Marathon seems to be an impossible task for me, I can only run 5 km at a stretch. Even if I double that T would
still not reach half way through the Marathon” says Rohan.

Which of the following statements can be inferred from Rohan’s Statement?

(A) (@ﬁs‘mﬁ m@ﬂwmaﬁqnmw%ﬁﬁ@awﬁﬂsﬁaﬁﬁﬂw%mmﬁmﬁﬂaaﬁwm
(a) Any runner who can complete the Marathon can definitely finish first five kilometers of the marathon faster than Rohan.

(B) (W) Ul g S0+ &1l & TR 7T Sl § o 98 A4 B S

(b) If Rohan runs four times his capacity, he would finish the marathon

(C) () Ife FRT T YA T U FeT @ ot et 3 38 3 o & wog & qrr e R g

(c) Had the specified time for Marathon been one hour, Rohan would have completed it in two hour’s time.

(D) (5) AT A1 &1 fafRre g3t g 0 @ 20 fbeiier @ aifre 3

(d) The specific distance of the upcoming marathon is definitely more than 20 km.

Correct Option(s): A
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Statements:

L City *X" has recently banned the sale of a drug — xyz, citing its misuse by youths for other activities.

II. City “Y” has recently lifted its ban on the sale of the drug xyz, after a sharp rise in the number of cases of Glaucoma.
Which of the following can be inferred from the above statements?

(A) (@) &1 *XYZ’ BT UGN dbaal Hifaade & Iu=R ¥ far o g

(a) Drug xyz is only used in the treatment of Glaucoma.

(B) (@) TR X # Aifagifde & 7l o wemd wiaw A 9fS gnfi

(b) The number of Glaucoma patients in City *X’ is going to increase in the future.

(C) () T@l *XYZ’ BT 3TN REeMfSdl gR1 Woidhe-we- # 9fs & fu o fbar srar &

(¢) Drugs xyz is also used by the sportspersons to enhance their athletic performance.

(D) (8) &l *XYZ’ B 3ugn Hifaafds & Iuer A fear s ydbar g

(d) Drug xyz can be used in the treatment of Glaucoma.

Correct Option(s): A
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Directions: The Question consists of a Statement followed by two arguments I and II.
Statement: Should only one company be allowed to run the transport system in any one big city?
Arguments:
L. Yes, this will put an end to unhealthy competitions among different companies.
II. No, the commuter should be given a wider-choice of transport system,
Select the correct answer using the code given below:

(A) (@) Bad ddb-1 GG &

(a) Only argument-1 is strong

(B) (9) @ ddb-11 Y4 &

(b) Only argument-II is strong
(© DT 19T 1 YL &

(c) Either [ or II is strong

@) @ Id 1 MRAN 1 ITaT 8
(d) Neither I nor II is strong

Correct Option(s): A
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Directions: In the question below is given a statement followed by two assumptions numbered I & II. Consider the Statement

and decide which of the given assumptions is implicit.

Statement: It is faster to travel by air to Delhi from Bengaluru.

Assumptions:

I. Bengaluru and Delhi are connected by air.

II. There are no other means of transport available to Delhi from Bengaluru.

Select the correct answer using the code given below:

(A) (P) T Had YRUI-1 A<HRd 8

(a) If only assumption-1 is implicit

(B) (W) IfE Fad YRUM-1 3=<IFTad &

(b) If only assumption-1I is implicit

(©) anafgardi syarn sRHRA &

(c) If either I or 11 is implicit

O) @ uRTdN MR IR n 3T g

(d) If neither I nor II is implicit

Correct Option(s): A
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Directions: In the question below is given a Statement followed by two courses of action numbered I and II. You have to
assume everything in the Statement to be true and on the basis of the information given the statement, decide which of
suggested courses of action logically follow(s) for pursuing:

Statement: Many medical and engineering graduates are taking up job in administrative services and in banks.

Course of Action:

L. All the professionals should be advised to refrain from taking up such jobs.

II. The govt should appoint a committee to find out the reasons for these professionals taking up such jobs and to suggest
remedial measures.

Select the correct answer using the code given below:

(A) () Tfe Had 1 S | T g

(a) If only I follows

(B) (W) UE dael 1 4G | AT §
(b) If only II follows

OIORIFRIGINE: &2 G

(e) If either I or 11 both follows

O) @ IRAARAE naCH 3T e
(d) If neither I nor 11 follows and

Correct Option(s): A
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Directions: In the question, a statement is given followed by two conclusions number I & II.
Statement: Sealed tenders are invited from competent contractors having experience of executing construction jobs.
Conclusion:
I. Tenders are invited only from experienced contractors.
IL. 1t is difficult to find competent tenderers in construction job.
Select the correct answer using the code given below:

(A) (@) Ul dad Fspy.1 918 | 31 g;

(a) If only conclusion-I follows:

(B) (@) Ofe Faa fFAspen are & 311a1 g;

(b) If only conclusion-II follows;

(C) (@) TT el 131 11 76 H 3H7ell &;
(c) If either T or II follows;

(D) (@) e T a1 2R A8 1 918 H AT 3;

(d) If neither I nor 1I follows;

Correct Option(s): A

29.
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The salary of a person decreased by 20% in the first year and increased by 20% in second year. Find the net change in salary
over the 2 years:

(A) (@) 4%
(a) 4%
(B) (@) 5%
(b) 5%

(C) (D) 6%
(c) 6%

(D) () 7%
(d) 7%

Correct Option(s): A

viife 3R I B S 9 10% 18 Fape} 3.33%
Tl B SR 7 v 2 s i e

Preeti went to market and purchased some mangoes, of which 10% were bad. She gives 33.33% of the remainder to the poor
and then has 180 lefl. How many mangoes did Preeti purchase initially?

(A) (®) 280
(a) 280

(B) (9) 300
(b) 300

(C) (M) 325
(c) 325



(D) (9) 250
(d) 250

Correct Option(s): A

31. Ud HGFHATT & it H 40 TR ST & 7e0 BT R 31 38 38 50 Bl 20% b I R A9 2q1 81 S AR B alg
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A builder owns a house worth Rs.40 Lakhs. He sells it to Rahul at a profit of 20%. After 3 months, Rahul gets a promotion and
has to go to Hyderabad. So, he decides to sell the house back at a loss of 20% to the builder. In this transaction, what does the
builder make?

(A) (@) 12 TG 3G &I H
(a) A profit of Rs.12 Lakhs

(B) (9) 10 9RG TUG HTAH
(b) A profit of Rs.10 Lakhs

(C) (M) 9.6 TG TGY BT MY
(c) A profit of Rs. 9.6 Lakhs

(D) (9) IS ATH T8N, DS g1 Tl

(d) No profit no loss

Correct Option(s): A

32. U9 FfHT ¢RI TR 119 Ufaad & &R § 4 7wl & R0 FeRU 4191, 3000 3T &1 YRR GX 209 Ufay &t ez @
2 991 o foTT TIeh g ST & SRTaR | IEROT ST UR 1S RIT 8 =

The simple interest (S.1.) on a certain sum of money for 4 years at 11% p-a. is equal to the compound interest (C.I.) on Rs.
3000 for 2 years at 20% p.a. The sum placed on S.I. is =

(A) (P) 4000
(a) 4000

(B) (@) 3000
(b) 3000

(C) () 2500
(c) 2500

(D) (%) It # & BIE 7T

(d) None of these

Correct Option(s): A

33. U8 3R 110 RAHH 1@ Ffonan & e & Rivsd 310 81y T a1 31 98 20 R & 1w 200 sufdrdl &5t
FARTT B B IR § 1o i o &) QT ahea B $Ud SIE 98 BRI B YA YSTHR 100 F 31 2, 57 50 AT

& B g 3R IqD @ SiT 81 R &
aﬁm%m%m@ ma%mﬁ#fwms%aga g A R R 6 & T bt safderal ) a<h g8

A contractor undertakes to complete a work in 110 days. He employs 200 men for 20 days and they complete one-fourth of the
work. He then reduces the number of men to 100, who work for 50 days after which there is strike for 20 days. How many men
must be employed for remaining period to finish the work on time?

(A) (P) 250
(a) 250

(B) (W) 260
(b) 260

(C) () 200
(c) 200

(D) (¥) 3UYad H ¥ IS g1

(d) None of these

Correct Option(s): A



34. IR fYdeD] DI TP WY IBIC 911 3 | TH Y HH U 63 U b &) &l Widehar g2

Four coins are tossed up simultaneously. What is the probability of getting at least one head?

(A) (P) 15/16
(a) 15/16

(B) (9) 1/16
(b) 1/16

(©) (M) 17/16
(c) 17/16

(D) () TH A DS Tl

(d) None of these

Correct Option(s): A

35.

AETINET H §H AYATHR B sMavadar 7 gt & Pl ¥ A o wradt o &
1. U g & 91y U cRarudien &1 ga fuT ST sa1ge® w4 4 @far gim

1 & ot DI B H R -ufara
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Why do we need sampling in Audit? Which of the following are correct answers?

L. Making an audit assertion with absolute certainty would be vastly expensive.

II. There would always be some risk that audit fails to discover all material errors, even when 100% of the transactions are
audited.

II. Recognizing this, the auditor defines an audit risk that he is willing to accept

IV. Sampling in audit means testing less than 100% of the items in the population for some characteristic and then drawing a
conclusion about that characteristic for the entire population

Select the correct answer using the code given below:

(A) (P) Bad (1) 3R (1) TE &

(a) only (I) and (II) is correct

(B) (@) Bad (111 3R (1v) U5l §

(b) only (III) and (IV) is correct
(C) () W e §

(c) All are incorrect

(D) () Tl wgl §

(d) All are correct

Correct Option(s): A

3
I
I

6.
99 Ugfagl I @ W g
%(hmm

IV. BHAEH Q@gﬂ?mé) FHATEHR]

Aty Tis o1 Iudi o3a gU UE SR o7 99 By
Which are sampling selection methods?

I. Random Sampling

II. Systematic Sampling

ITI. Monetary unit Sampling

IV. Haphazard sampling

Select the correct answer using the code given helow:



(A) (@) a1 3R 11 Gel &

(a) Only I and II are correct

(B) (W) $ad L I, 3R m 981 ¢

(b) Only L. II, and III are correct

(©) nuHi g

(c) All are correct

(D) (8) Gt 717 €

(d) All are incorrect

Correct Option(s): A

17, a@%@mwmﬁmﬁuﬁﬁaﬁﬁa I$ b O3 o U B 1T 8| g BT 3 F W B waR

Amit introduces Rahul as the son of the only brother of his father’s wife. How is Rahul related to Amit?

(A) () HERT HIE

(a) Cousin

(B) (@) 9
(b) Son

(C) (1) HIHT
(c) Uncle

(D) (8) aIHIG
(d) Son-in-Law

Correct Option(s): A

38.

. Fafifad Se=u &t ug @ik 39 SR 1R 7Y 31 5 3

ST, Hed, de, R, $aR IR mrgge wih T uig B ST A DIl I ST BT 8, o el & oy )
amz%gga?n @ﬁﬂﬁﬁ@ﬁaﬁ@n?%ﬁﬁ,@@%&g%?ﬁmn T § | BRE BT 241G 4R
3R e @t da 3fffra q31 ECEl |

R AR D o

Directions: Read the following passage and solve the question based on it.
Amit, Bharat, Chandan, Dinesh, Eeshwar and F erguson are cousins. None of them are of the same age, but all of them have
birthdays on the same date. The youngest of them is 17 years old and Eeshwar, who is the eldest, is 22 vears old. Ferguson is

somewhere between Bharat and Dinesh in age. Amit is elder to Bharat and Chandan is older than Dinesh.
Which of the following is not possible?

(A) (@) RAT B 3Ry 20 I 3

(a) Dinesh is 20 years old

(B) (@) BUGH B 31 18 9 §

(b) Ferguson is 18 years old%

(©) (1) BTGH BT 31 1999 §

(c) Ferguson is 19 years old
(D) (9) BIGEA BT 31Y 20 a¥ @

(d) Ferguson is 20 years old

Correct Option(s): A



39.

A MefiEd Isur &1 ug 2k 39 YR WR 99 & g B

glee e, Mar & & o €, odf & oix ufged) i Tl {7 & 0 SR §, Wit SRt e, gng s S ) ufdedt
fam & il AR 4 dewg s a1 81 Wi Rl 1 b o I 2, Riara:

i. TR T S BR & el TR 96XTT8 & i dTel SFRY o fore Sifafad fbwran 21

it. foT1 Qe arel BRI ) BTGP, TR & AR a0 W BHRY & Forw sifafad Rmar 3

. el P THAR AT S PART SR f1 W & Tl o) Ol a1 & o ool 3t
T o S e g o

iv. B TR o TR AT R FERMG B TR A1 S A e B

&1 T8 o1 & Sy uR Prafifae & & et Prufzor =&t fvay swwar &2

L 1 {91 L& D[ DH g 19D 01U SffdiNad UHR STl 8

. &7 fg1 &Eg are PR o forq e o/ Rfgd &

11 1 [l IR gl 3ifdRad TuR SRS T S

Frafeiad ois o1 3uahT ovd §U YEl 3w o1 999 IY:

Directions: Read the following passage and solve the question based on it.

The Hotel Leela in Goa has two wings, the East wing and the West wing. Some East wing rooms, but not all, have an ocean
view. All the West wing rooms have a harbor view. The charges for all the rooms are the same, except:

i. There is an extra charge for all harbor view rooms on or above the third floor.

ii. There is an extra charge for all ocean view rooms, except those without a balcony.

iii. Some harbor view rooms on the first two floors and some East wing rooms without an ocean view have kitchen facilities,
for which there is an extra charge.

iv. Only the ocean view and the harbor view rooms have balconies.

Which of the following cannot be determined on the basis of the information given?

L. whether there are any rooms without a balcony for which an extra charge is imposed

II. whether any room without a kitchen or a view involves an extra charge

1. whether two extra charges are imposed for any room

Select the correct answer using the code given below:

(A) (@) hdd 1
(a) I only

(B) (@) Had 11

(b) I only

(C) () dad 1 3R 1

(c) I and I1I only

(D) (4) a1 AR 1m

(d) IT and 111 only

Correct Option(s): A

40.

FrRr: Frofarad e &1 v ok 36 a1uR W Uy 3 gd 3¢

L &: Gl o, S, b, wr, S 3R P, Bl dde AN & < WE! A AT T Y IR IR Uik A 3y
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Directions: Read the following passage and solve the question based on it.

L. Six men B, D, C, M, J and K are split in two groups of three each and are made to stand in two rows, such that a man in one
row is exactly facing a man in the other row.

II. M is not at the ends of any row and is to the right of J, who is facing C. K is to the left of D, who is facing M.,

Which of the following groups of men are in the same row?

&) @) A T @
(a) BMD

(B) (@) TH W &
(b) MIK

~ -~ ~



(C) (TI) dlr @ :Wa
(¢) BDC

(D) (%) TTH I DTS 751

(d) None of these

Correct Option(s): A

41.

fafefad Rt &1 eryds ug ok @ SR 3 favdl &) e i fenfial gr1 ure 3! &1 iRl st

Study the following table carefully and find the average percentage of marks obtained by all the students in the subject C and
D together.

T WA AT TAaaT ® S freThaat ST TR ST wT Tiers:
The percemage marks oblained by seven students In six different subjects:
e

Subpa—+| A B ¢ [ E F
Studont | Gurot | (Outef | (Owtof | (Owof | (Outof | (Ot
78) | 150y | 100) | 50y | 150) |oer75)
P 1] 7] 76 o2 B9 B2
Q 78 72 4 ) 7} 70
® 66 7 7% on 72 66
s 74 [V 8 74 70 74
T % 73 a7 [T & 78
v 86 0 % 78 Bz a0
w 82 €8 81 a5 76 72
(A)(®) 78
(a) 78
(B) (9) 80.71
(b) 80.71
(C) () 79.43
(c) 79.43
(D) (Y) 77.53
(d) 77.53

Correct Option(s): A

42,

ARG "ead S #, Ry g oS 93 wesl v, <, <, & iR (SUEH g(et #) & i Uy &
A1 F Uil 19 & UdTg &l a2ig | e B [ Agad W Myl o i SRR & (@t sl TN
3R 7 T8 Y BIGRE 225 3, A o ol 1 VR ks

In the network diagram below, the figures represent the flow of natural gas through pipelines between major cities A/B,C,D

& E (in suitable units). Assume that supply equals demand in the network (although not on individual nodes). If the number of
units demanded in C is 225, what is the value of x?

(A) (®) 975
(a) 975

(B) (Q) 875
(b) 875



(C)Y() 775
(c) 775

(D) (%) 950
(d) 950

Correct Option(s): A

43.
ﬁaﬁ@awa’tm@j&s Gﬁa’q‘wgvﬁ 1998 & R U i Ui &1 Ui rent-san 3wt & s @
afafad uy &1 3w <

e 1998 7 Joft < %m&m’aﬁmaﬁaﬂvﬁ 1997 § 4t I waiivaY 9 oo ve & uiiwraar
T IGT G2

Study the following graph that shows the percentage of number of employees of five different categories of a certain company
during 1997 and 1998, carefully and then answer the following questiont:

If the number of employees of category B in 1998 were the same as that in 1997, what would have been its percentage
share in the total number of employees?

e

1997 # we=nfai £ 3o 9=41=3200 3T 1998 #=3600
Total number of employees in 1997=23200 and that in 1998=3600

(a)
() 281
9
(@) 28 ;
(B)
(@) 17
(b) 17%
©
(M 22—:—
© 22
(D)
() 25
d 25

Correct Option(s): A



44,

FfeiRad A, Sl 1998 9 ¥R 1998 o SR ST & Wiles S0 & W i Tl ) i 2

The following graph shows the monthly average values of the rupee against the US dollar from January 1998 to December
1998:

uaa%@ H@nﬁmmﬁ@ﬁaﬁwgsﬂmﬁﬁﬁm%m&fmﬂsm 3T el & S W

Find the number of months which have shown below average performance of the monthly average values of the rupee against
the US dollar in the year 1998.

(A) (@) 5
(a)5

(B) (W) 7
(b) 7

€ (Me
()6

(D) (®) 8
(d)s

Correct Option(s): A

45.
ﬁgﬁf@?—l'\‘ﬁﬂf?ﬂ 3T B
g@ggi ol ?ﬁg %33' g@nﬁ%ﬁ@ﬁaﬁa%aﬂ@ﬁﬁ:a‘iaﬁﬁ%%l
& &l a§
1. é&rﬁ éiwﬂ%

y. Wﬁﬁﬁ?ﬂﬂﬁ

Study the following mformatlon

I. Alex, Betsy, Chloe, Denis, Edward, Fiona, Giles and Herbert are gamblers sitting around a round table facing the centre.
II. Dennis is the neuzhbour of Alex but not of Herbe

III. Betsy is the neighbour of Fiona and 4th to the left of Dennis.

IV. Edward is the neighbour of Herbert and 3rd to the right of Fiona.

V. Chloe is neither the neighbour of Alex nor of Giles.

Which of the following is correct?

(A) (@) SFRI g & S Ty 4313

(a) Dennis is to the immediate left of Giles.

(B) () Uqq, Feil SR S d S AR

(b) Alex is between Chloe and Dennis.

(©) () g1 39 & T SR TR A TR

(¢) Fiona is 31d to the right of Dennis.

(D) (%) US4 giac RSl s dg AR

(d) Edward is between Herbert and Betsy.

Correct Option(s): A
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Directions: Refer to the following information to answer the question that follows.

I. Seven students A, B, C, D, E, F and G take a series of tests.

II. No two students get similar marks.

IIl. G always scores more than A.

IV. A always scores more than B.

V. Each time either C scores the highest and E gets the least; alternatively, D scores the highest and F or B scores the least.
If D is ranked sixth and B is ranked fifth, which of these can be true?

(A) (®) S BTG Uga AT AT 3
(a) G is ranked first or fourth

(B) (@) U BT b TR T IR B
(b) C is ranked second or third

(C) () T BI ¥ quI I1 Uiwral §
(c) A 1s ranked second or fifth

(D) (¥) ‘TP BT ¥ dARRT AT 1T g
(d) F is ranked third or fourth

Correct Option(s): A

47.

Y qET e e 3R R Ruu uy 13w 2
u‘rama-ﬁm,g}sr,m,mmm-mmWﬂﬁmﬁwwmﬁw%éﬁ,nﬁm
SIgTY, Sifa faRT, T678 2R 3fyaT @ faRM Uk U O TR 1 2

A ool Rl b LD
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Directions: Read the information and answer the question that follows.

Five friends — Ramesh, Suresh, Tanveer, Umesh and Vikram — each present one paper to their class on mathematics, History,
Biology. Chemistry or Dermatology — one day a week. Monday through Friday.

I. Vikram does not do Chemistry and does not give his presentation on Tuesday.

II. Suresh makes the Dermatology presentation and does not do it on Monday or Friday.

III. The mathematics presentation is made on Thursday.

IV. Tanveer presents his presentation, which is not on Chemistry, on Wednesday.

V. The Biology presentation is on Friday, and not by Umesh.

V1. Ramesh makes his presentation on Monday.

What presentation does Vikram do?

(A) (P) THIT IR
(a) Chemistry

(B) (@) 4T fagi=
(b) Dermatology

() €M) T
(c¢) Mathematics

A o~



(D) (9 Sild 193
(d) Biology

Correct Option(s): A

48.

;e & T Y@ & YR W Y B IR S

U THEH <19 & 400 afdkrd] H § Uekd s e 3t 23, fRmara orgwy oik ¢ Rg eieR-w # 4 30 @
B TD YATIR-TA D! Ugdl o | $ - GHIRR-UAN 7 9 379 G F GHER-TEH S o7 S o4 &) SHER-9 0ga 8,
TP 15% SfGd dad fegid 3R Ugd &1 48 i ua =e o1 & 239 fd ergwy 3w 2fwn ik & g gl &,
STefdb 20% eATd TR 3T 3F3UT 3R R <T3RI Ugd € 3R 129 fda 9t il yeR-TE dga B

afe 3iTp 371 Ug areit o) e 34 it ot e A ow § i ¢ g ved & o o0 @ ou et
e E wfed eTgw 3T $fsar gt ued &2

Directions: Answer the question on the basis of the information given below:

Each person, out of the 400 people in a certain community, reads at least one newspaper among Times of India. Hindustan
Times, and The Hindu. 37% of the people read at least two of the three newspapers, while 15% of the people read only HT. It
was also known that 23% of the people read TOI and Hindu, while 20% read TOI and HT and 12% read all the three
newspapers.

If the number of people who read TOI is less than that of those who read The Hindu, at least what number of people do
not read TOI?

(A) (P) 185
(a) 185

(B) (9) 166
(b) 166

(©) (T) 215
(c) 215

(D) (&) T U I g

(d) None of these

Correct Option(s): A

49,

RELEIE @1 I 3ferT-
%ﬁ?&ﬂaﬁ&ﬁ)ﬁmﬁ 31T FRUFrTT 1 g i T B | U faivg a1 U & S & T el U & ST

Below are depicted three different positions of a dice. Find the number of dots on the face opposite to the face with one dot.

(A) (P)2
(a) 2

(B) (M) 3
(b) 3

©Ma
(c) 4

(D) (@) 6
6

Correct Option(s): A



50.

. ua Raenfaal ufcpa, Hifar, 6, YaaH iR alid 3 100 TR B S A UM i sa e dsg 18500
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Directions: Five athletes Pulkit, Qadir, Rahim, Saglain, Tariq participated in a 100 meter race. They got different ranks from 1
to 5 in the race (1 being fastest). The following information is also known:

L. Pulkit is not the person who finished the race first.

II. Rahim did not get 5th rank but he finished the race after Pulkit.

III. Saglain finished the race after Qadir.

IV. The sum of ranks of Pulkit and Tariq was equal to the sum of ranks of Rahim and Saglain.

If sum of ranks of Tariq and Rahim is 8 then who got the 4th rank?

(A) (P) Yfehd

(a) Pulkit
(B) (T) YdbaH

(b) Saglain
(C) (T aIfked

(c) Tariq

(D) (H) 374 § BI3 a1

(d) None of these

Correct Option(s): A

51. A da@e o 31T 3fd & Wl g2
What is the next term in the following series?

1,4,3,9,5,16,7,25,9,36,11,?

(A) (P) 64
(a) 64

(B) (@) 49
(b) 49

(C) (1) 48
(c) 48

(D) (¥) 55
(d) 55

Correct Option(s): A

52. e 5 WO BT TN 14 § 3R 1 3R 10 8. 9 37 2 Gomall & WHGA (WSa) T 9 T

If the sum of two numbers is 14 and their difference is 10, find the product of these two mumbers.

(A) (@) 24
(a) 24

(B) (M) 22
(b) 22

©@nzo
(c) 20

(D) (4) 18
(d) 18

Correct Option(s): A



53.

i (3d9Ue) B

Evaluate:

\/41— 21+419—+9

(A) (®) 3
(a)3

(B) (M) 5
(®)s

(©)(es
(c)6

(D) (¥) 6.4
(d) 6.4

Correct Option(s): A

54. U Tefl & BT 1 ARG a9 30 e R iR 3l s ¥ wErsl &1 g aw 20 feaiam 21 afe dyuf e
P1 AT e 23.25 B 8 T I B A HAL: B UaH I 31 9uida W b g

The average weight of boys in a class is 30 kg and the average weight of girls in the same class is 20 kg. If the average weight
of the whole class is 23.25 kg, what could be the possible strength of boys and girls respectively in the same class?

(A) (®) 14 3R 26
(a) 14 and 26

(B) (@) 13 3R 27
(b) 13 and 27

(€) (M 17 3R 27
(¢) 17 and 27

(D) () §7TH 8 IS g

(d) None of these

Correct Option(s): A

55. U Wl del &1 & 19d 259 §¢ il 8| Sore-g T T & [0 QT 39 o B @0 B 200% G T FT 21
AESECE %mmﬁuﬁwq@ﬁ&%’%ﬁﬁ%

The price of an edible oil is increased by 25%. To maintain the budget, Sushma reduces the consumption of this oil by 20%.
The percentage increase in expenditure due to this edible oil is:

(A)(®)0
(a)0

(B) (@)1
(®)1

© @2
(c) 2

(D) (") 3
(d)3

Correct Option(s): A

56. U MR DI ST 189000 B | WHH a 397 8% B &¥ 4 ¥ & ol &, N afag s Yag o gl 2 adf &
3Id H =GR &1 SIEEH] [dbari g2

The population of a town is 189000. It decreases by 8% in the first year and increases by 5% in the second year. What is the
population of the town at the end of 2 years?



(A) () 182574
(a) 182574

(B) (T) 185472
(b) 185472

(C) (1) 191394
(c) 191394

(D) (9) 193914
(d) 193914

Correct Option(s): A

57. Ueh SATURY - Udb e 1 BIHd Bl AT & B Y 40% D Tg1 2T | I T A2 Ueeh 1 20% 3R 259 &)
ga%amw@?%a’naﬂésuﬁwmﬁwaﬁmmaﬂmammlmmmaﬁmmmmﬁ

A dealer marked the price of an item 40% above the cost price. He allowed two successive discounts of_IO% and 25% to a
particular customer. As a result he incurred a loss of Rs. 448. At what price did he sell the item to the said customer?

(A) (@) 2,416
(a) 2,416

(B) () 2,352
(b) 2,352

(C) (1) 2,268
() 2.268

(D) (4) 2,152
(d) 2.152

Correct Option(s): A

$8. ‘@ 2500 TYY BT FUR T F ol § AR I T4 5 4RIy T B 7% Uiy & TR o W ST 2| 4l 4
gsifasam*asg @ AR ap ﬁm%mﬁwm@uzomwm%a‘rn*aﬁamaﬁmﬁm@a

A lends Rs. 2500 to B and a certain sum to C at the same time at 7% p.a. simple interest. If after 4 years, A altogether receives
Rs. 1120 as interest from B and C, then the sum lent to C is -

(A) (®) 700
(a) 700

(B) (9) 1500
(b) 1500

(C) () 4000
(c) 4000

(D) (H) 6500
(d) 6500

Correct Option(s): A

59. Ub USY R BT W1y T.a U, Bail &) Wa far T Siad oits 3o 16000 ¥U4 3| HR- M Wa ardl
BHET 1 fam T 3ird mftie 3o 15000 BUA B fermr wri-srya a1 STl @1 forg gl M 12000 ST B | e § BRI
ST ATt SR a1 et Brf- 31 a1l T &5t vl wradl &1 e 5

The mean monthly salary paid to graduating MBA class of a management institute is Rs. 16000. The mean monthly salary paid
to students with work experience is Rs. 18000, The corresponding figure for the students without any work experience is Rs.
12000. Determine the percentage of students with work experience and those without any work experience in the class.

(A) (D) 66.67%, 33.33%
(a) 66.67%, 33.33%

(B) (W) 33.33%, 66.67%
(b) 33.33%, 66.67%



(C) (TT) 75%, 25%
(c) 75%, 25%

(D) (9) 25%, 75%
(d) 25%. 75%

Correct Option(s): A

60. HHaRT 4 TP I Bl 6800 ¥4 H 9 g 3R w1eT 31| A IUA 9% Bl 7850 UL F 99 o gt S

1Y 3D GRTISIS 15 G114 1 4RI & 318 b SRISR GIAT | 20% ST WG B b 170 I o ! bl 1A W)
Srinivas sold an article for Rs. 6800 and incurred a loss. Had he sold the article for Rs. 7850, his gain would have been equal
to half of the amount of loss that he incurred. At what price should he sell the article to have 20% profit?

(A) (@) 7500
(a) 7500

(B) (@) 9000
(b) 9000

(©) () 10680
(c) 10680

(D) (9) 9600
(d) 9600

Correct Option(s): A

61. qgmﬁawmmmmﬁaﬁmm%l BT feTTe ST 1 St W 66 8 | R § fadl & el
HE 5:

Every body in a room shakes hands with everybody else. The total number of hand shakes is 66. The total number of persons
in the room is

(A) (P) 11
(a) 11

(B) (4) 12
(b) 12

© @13
(c) 13

(D) (4) 14
(d) 14

Correct Option(s): A

62.

U [Selerd H Ui 95 @0, <@, 7, % 3R S §1 U pa 23 faendf 3 M9 9 9e ‘& A 4. W8 @ W s, G
Y s, Feol w0 W2 IR INGEH B A U faemdf ol de & Hifier & &0 5 9iiife (dswe) w0 8 9 fomr
ST © | 59 91 &1 Wilisar (i) b wafia e wen &, <@ aiR ar W =gl g, Fufafaa g

A school has five houses A, B, C. D and E. A class has 23 students, 4 from house A, 8 from house B, 5 from house C, 2 from

house D and rest from house E. A single student is selected at random to be the class monitor. The probability that the selected
student is not from A, B and C is

(A) (P) 4/23
(a) 4/23

(B) (@) 6/23
(b) 6/23

(©) (M) &/23
(c) 8/23



(D) (9) 17/23
(d) 17/23

Correct Option(s): A

g%?ﬂﬁ 120 $UA H 3R DY &1 Uh U 400 394 H GeT | T 91 BT defel] BT 5% B aH |
aﬁs%aﬂsﬁw a1 IU gRT I YRR fbai g2

Latika bought a teapot for Rs 120 and a set of cups for Rs 400. She sold teapot at a profit of 5% and cups at a loss of 5%.The
amount received by her is

(A) (@) 494 ST
(a) Rs. 494

(B) () 546 TUY
(b) Rs. 546

(C) () 506 T4
(c) Rs. 506

(D) (9) 534 ST
(d) Rs. 534

Correct Option(s): A

64.

&l Ryaeh] @1 1000 IR IBTA TN 3R 39 TRum ﬁﬁawaﬁ‘nﬁf@a%mw%
U Y1 & YR R, ar%ﬁ&%qai%sﬁu

Two coins are tossed 1000 times and the outcomes are recorded as below:

Based on this information, the probability for at most one head is

&= 1 e 2 |1 Jo
Numberofheads

AT 200 |550 |250
Frequency

(A) (D) 1/5
(a) 1/5

(B) (Q@) 1/4
(b) 1/4

(C) Ty 4/5
(c) 4/5

(D) (d) 3/4
(d) 3/4

Correct Option(s): A



65.

wug%ﬁq?oagfraﬁﬂﬁr%&smﬁ) &Y Y TSI ¢ SR D! Sitarafy (el ) & 72 @ 7 ararar g
T g:

39 91 &1 YT (& Tile F 4 9l T 9 99 70 deal @t el ooo Hel A &9 8, a8 Pafiiad &

80 bulbs are selected at random from a lot and their life time (in hrs) is recorded in the form of a frequency table given below:;
The probability that bulbs selected randomly from the lot has life less that 900 hours is:

sty (721 9) | 300 [ 500 [ 700 [ 900 [ 1100
Life time (in hours)
ATHATTAT e (12 |28 |25 |10
Frequency

(A) (@) 11/40
(a) 11/40

(B) () 5/16
(b) 5/16

(C) () 7/16
(c) 7/16

(D) (9) 9/16
(d) 9/16

Correct Option(s): A

ss.waqﬁawnﬁasémuooowﬁ%lWmﬁaﬁmmsﬂvwﬂsmmmmﬁmmm
ﬂmm%ﬁuﬁmso%ﬁ%lmmmmwémmmaﬁﬁwﬁrﬁma%

Monthly salary of a person is Rs. 15000. The central angle of the sector representing his expenses on food and house rent on a
pie chart is 60 degree. The amount he spends on food and house rent is

(A) (@) 5000 TG
(a) Rs. 5000

(B) (@) 2500 3T
(b) Rs. 2500

(©) (T) 6000 TTY
(c) Rs. 6000

(D) (4) 9000 TYA
(d) Rs. 9000

Correct Option(s): A

e7ﬁmm,wm,mﬁm_ﬂwﬁmm$mﬂqm%‘?

Method like tossing a coin, throwing a die, lottery method- come under what sampling?

(A) (P) WYRY GiGIfE FHHATHT

(a) Simple random sampling

(B) () W (RfWI53) TAHR0T

(b) Stratified sampling

(C) (1) TgEHIG THATBR]

(c) Multi stage sampling

(D) () GeTEeR AHATHRI
(d) Cluster sampling

Correct Option(s): A



68. G 3T MR W AT b1 1 B-G&fdl 1 Ual 1 ITgd & ot 1T e 7 § fepwapt siurer 33

If you want to find the working efficacy of nationalized bank in India, which one of the following would your follow?

(A) () TG THAH0

(a) Mult1 stage sampling

(B) (@) FeXX HATHIO]

(b) Cluster sampling

(C) (T) FYRY RIIE TRl

(c) Simple random sampling

(D) (%) TR e

(d) Sampling error

Correct Option(s): A

69, Wé:%%s%gQ%NCES H 31&RT & feba W19 & Forud S o I €1 e & ot 1eR & R b aidsh &t
quinren ?
How many pairs of letters are there in the word CONSEQUENCES which have as many letters between them as in the English

alphabet?
(A) (@) dR

(a) Four

(B) (@) Uld
(b) Five

(©) () 4id

(c) Seven

(D) () B:
(d) Six

Correct Option(s): A

70, maﬁsﬂ%mw f3aT 3 g, “I9P A1 1 41 T T AT B R 2
Hifdd o1 [JaH & Ty atnﬂ'agw%? & ¥
Pointing to Kartik, Vivan said, “His mother’s brother is the father of my son Nitin."”

How is Kartik related to Vivan?

(A) () HHT
(a) Uncle

(B) (W) HI§
(b) Brother

(C) (M) Heftst

(c) Nephew

(D) (9) farar
(d) Father

Correct Option(s): A

L

ﬁweﬂa%ﬁnemsﬂmamaﬁ%G{MWaﬁzﬁﬁ%ﬁm%@fﬁmmsmm%

Select the combination of numbers so that the letters are arranged accordingly to form a meaningful word.



(A) () 3.4,2.7.6.1.5

(a) 3.4,2,7,6,1,5

(B)(9)5,2,7,1,4,6,3
(©)5,2,7,1,4,6.3

Correct Option(s): A

72.

ﬁﬁmmmmmamma@ammmmwwmm

What is the least number of squares that must be added so that the line AB becomes a line of symmetry?

(A) (@) 4
(a) 4

(B) (@) 5
()5

©@ne
(c)6

(D) (%) 7
(@7

Correct Option(s): A

73

Frafifed 7 4 BF I 78 3

Which of the following is NOT correct?
(A)

() (8= (3 31 (2 (3 F =0 ¥ forer v
(@) (8- (3)tcan be writen as (2x (3

(B)
() 10.342 x (10)8 %1 AT i+ 1.0342 x (10)70 4

(b)  The standardform of 10.342 x (10)°is 1.0342 x (10)10
(€)
() 20x30+40%THA1E

(©)  Valueof20x 30+ 40is 1



(D)
(M) P3xPs:P4ETHATP ¢

(d) Value of P3 x P5+ P4is P4

Correct Option(s): A

74, Ut et B B U 115 B B & o= T 14 394 34 B 1 IR Ueb aedt AN 176 308 & df 3 5eail 31X 4
&l @1 gdl AT BT gal Ty |

The Price of a bat is Rs.14 more than three times the price of a ball. If cost of a bat is Rs. 176. Find the total cost of 3 bats and
4 balls.

(A) (@) 575 TG
(a) Rs. 575

(B) () 460 ST
(b) Rs. 460

(©) () 650 TTL
(c) Rs. 650

(D) (9) 744 Y
(d) Rs. 744

Correct Option(s): A

75. T, FEAH IR BIC SHeTT-3feTT 3HR & 255 S 1 AT 2: 8+ 5% ST A | Hew AR F ool 3 ey
3T D

There are 255 boxes of different sizes large, medium and small. These boxes are in the ratio 2:8:5. Find the number of medium
size boxes.

(A) (P) 85
(a) 85

(B) (@) 136
(b) 136

(©) () 192
(c) 192

(D) (4) 115
(d) 115

Correct Option(s): A

76. U 114 519 & 4% Iachl g1 afe 719 # 1R 89 & fee 40% BH g1 W1l § 1 5 YRT 1 711 b aRR g &
%hvm@waﬁﬂ“ﬁaﬁwﬁrmo@ﬁﬁmmwanﬁlWﬁa@aﬁmwﬁr(mmﬁaﬁ)wm

A boat travels in upstream. If the speed of boat in upstream is decreased by 40% then it is equal to the speed of current and
speed of boat in still water is given as 240 kms/hr. Then find upstream speed of boat? (In km/hr)

(A) (®) 120
(a) 120

(B) (W) 180
(b) 180

(C) (N 150
(c) 150

(D) (¥) 210
(d) 210

Correct Option(s): A



77. U GHMGR & Y SfH 3R B 3@l | U o4 &1 ATd-ed Ueb B & oFTa-Hed 9 32.5% 45 8
3R S & SITA-He Dl 30% g1 foan ST 8 TUT Y 25% & oM TR 4134 390 A 9 Raronar 21 i sl i)
3Hfebd Hed Bl ARTI-Hed W 15% HUS d¢1 foar Srar 3 & e W aifded 7wy (udl ) &1 gar e |

A Shopkeeper has two articles jeans and shirt. Cost price of a jeans is 32.5% more than cost price of a shirt and cost price of
jeans is increased by 30% and is sold for Rs. 4134 at the profit of 25%. If shirt marked up 15% above cost price, then find the

marked price of shirt (in Rs.)?

(A) () 2200
(a) 2200

(B) (@) 2208
(b) 2208

(C) (T) 2280
(c) 2280

(D) (9) 2820
(d) 2820

Correct Option(s): A

78.

A1l < TS RO O G H AR SieRT- 3R Rl TR IR0 o] 31 B YO 3 gl § 9k ug = R A wfeen
3Tl & U &1 4t gufdt §1 offe &1 eiFydas U 3R U &1 IR 2

Table given below shows total number of male visitors on four different days to a park and it also shows percentage of female
visitors on these four days. Read the data carefully and answer the question.

s T S AT AT w1 Aias
Days Total male visitors Percentage of famale visitors
MLELE I 120 768%

Sunday

i 280 30%,

Monday

AT 500 37.5%

Tuesday

A 420 40%,

Wednesday

AuATE H ) Ky e, wFaar ol dngare oy B Ca R R e i o
Total number of visitors on Wednesday is how much more than total number of fernale
visitors on Sunday and Mondaytogethes?

(A) (P) 300
(a) 300

(B) (@) 200
(b) 200

(C) () 250
(c) 250

(D) (8) 350
(d) 350

Correct Option(s): A

79. BE 130-150 & BE/-3fF g
The class-mark of the class 130-150 is:

(A) () 130
(a) 130

(B) (M) 135
(b) 135

(C) (N 140
(c) 140



(D) () 145
(d) 145

Correct Option(s): A

80. 25 Sﬂ’ﬁjmﬁaijr%%ﬁ%?mmﬁgssgl %ﬁﬁgﬁiﬁfﬂ@qﬁﬂw 13 TSIl BT AL 32 § 3R 32U 13

The mean of 25 observations is 36. Out of these observations if the mean of first 13 observations is 32 and that of the last 13
observations is 40, the 13th observation is:

(A) (P) 23
(a) 23

(B) (9) 36
(b) 36

() (N 38
(c) 38

(D) (¥0) 40
(d) 40

Correct Option(s): A

81.

52Uﬁfﬂﬁﬂ$&iﬂm@ﬂmn€ﬂgﬁﬁwwﬁwmérwmﬁmﬁmﬁ%mmqﬁml

One card is drawn from a well-shuffled deck of 52 cards. Calculate the probability that the card will not be an ace.
(A) (@) 1/13
(a) 1/13

(B) (@) 1/26
(b) 1/26

(C) () 1/39
(c) 1/39

(D) (&) 1/52
(d) 1/52

Correct Option(s): A



82,

%W%mwwmﬁmwmmﬁﬁmﬁm&mﬂwﬁﬁquﬁﬁ
Wﬁ@%%ﬂﬂﬁﬁ,wﬁmmﬂ%ﬂﬁﬁﬁWWM%%aﬁwﬁawﬁnf%wﬁ%m
%gwﬁwﬂawn%maﬁaﬁmn@mzs%%amﬁmaﬁmmmsﬁaﬁaﬂgﬁm@mw

The given bar graph shows the daily wages of both men and women working in ABC 1td in five different days in a week.

L=

The wage for men on Saturday is 40% of the both men and women wages in Friday and the wage for women on Saturday is
25% of the both men and women wages on Wednesday. Find the total wages of both men and women on Saturday.

Total wages

EEAG

S
280
200300
1508
Lo
B
0

IWenday Tussils, ‘Nadne sdu Thot silay Friclay

(A) (@) 1800 ST
(a) Rs.1800

(B) (d) 1900 TYL
(b) Rs. 1900

(C) () 2000 YT
(¢) Rs. 2000

(D) (9) 1600 GG
(d) Rs. 1600

Correct Option(s): A
83.

ﬁaﬁ@aaﬂmwﬁtﬁaﬁmaﬁm%@m-mwma

The following Venn diagram shows the number of people who speak different languages:

1z 5
Spanish E) Eoglish
= 5
s
2
& 11

Hiod:

—> French

Howmany persons can speak French and Spanishboth?

(A) (@) 11
(a) 11

(B) (@) 12
(b) 12



(©) (M 13
(c) 13

(D) (4) 14
(d) 14

Correct Option(s): A

84.

©: TSI TP T, H S - fag B SR 3@ gUAB 1 3 d, g, 3R, g,
Wégv‘gﬂaaﬁéaﬁ%ﬁmmﬁm%aﬁaﬁ%l O b & e 7 9 MR IS 81 AR
oY |

D | 75! & T o o 3k 881 32 ‘
Six girls are sitting in a circle facing to the centre of the circle. They are P, Q.R, S, Tand V. T is not between Q and $ but
some other one. P is next to the left of V. R is 4th to the right of P.

Which one is sitting just right to the V?

-

IR b 31 @y
G & a8 3R 91 JH

A) (@) d
(a) P

(B) (@ T
O T

(©) (N 3R
()R

(D) (8) UH/,
(d) S/Q

Correct Option(s): A

85.

FIQR1: Fofefad uy 7 oe uy iR Q sy 1 3R 1 ART 21 S9! g oY 1 8 &5 o1 B A Sudey SRiu
3G Y4 BT IR & & Forg vafet B <1 ol ) 02 Sik FeR 2
UY : PITSS I 'sin co bye',ﬁimaﬂf% 'He is good‘,ﬁ'ﬁqmaﬂgm 'good’ ﬁ'ﬁl‘[{ﬂ'ﬂﬂﬁ'g’aﬁ%"

HYA;

L 3Ul D[S HNT H, ‘co mot det' D] G{;{E 'They are good'

IL3Y &I HIYT H, 'sin mic bye' dI % 'He is honest'.

Directions: The following question consists of a question and two statements numbered 1 and I given below it. You have to

decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give
answer:

Question: Which code word stands for 'good’ in the coded sentence 'sin co bye' which means "He is good*?
Statements:

L. In the same code language, 'co mot det' means ' They are good'.

II. In the same code language, 'sin mic bye' means 'He is honest'.

(A) (®) Bac 1 T § el aer 1 wafe =1 3

(a) 1 alone is sufficient while II alone is not sufficient

(B) () defel 1 T § STifes e 1 yufed TeT &

(b) 1 alone is sufficient while I alone is not sufficient

(© @D ard 1 arn wafe §

(c) Either I or I is sufficient

O) AT R nwufa g

(d) Neither I nor 11 is sufficient

Correct Option(s): A



86.

2. Pefelad us 4, o Uy MR A &4 1, 1 3R m BT U R 1 aow! g fofa o 8 b @ e 8 Suded deu

ﬂqag—%;waﬂwaﬁasmmfﬁ%lHmaﬁﬁmmﬁmww%ﬁmmmwwaﬂ
IR Wi gl _
TH: 40 [ BT P e ¥ 3 F ga= 3t & Aof &

HYH:

L %%%a%%m%ﬁ gofl § fadl 8

IL 23

L. G B 4 Slus &1 9ol 43 FIR Y . _
Directions: In the following problem, there is one question and three statements I, IT and III given below the question. You
have to decide whether the data given in the statements is sufficient to answer the question. Read all the statements carefully
and find which of the statements is/are sufficient to answer the given question.

Question: What is Suman's rank from the top in a class of forty students?

Statements:

[. Suman is 3 ranks below Deepak from the top

II. Deepak's rank from the bottom is 23

III. Suman is 3 ranks above Deepak from the bottom

(A) (@) A F A DIg al

(a) Any two of the three

(B) (@) Had 1 3R 11

(b) Only I and TI

(C) (1) ddd 11 3R 11

(c) Only 1T and I1I

(D) (8) bad 11 AR AT a1 34U 1
(d) Only II and either I or I1I

Correct Option(s): A

87.

frrda: Frafemd uy 7, 41 Sy Ru e ¥ e s & e 1 8l 63 3 Y1 fET TU & B! &1 Ut =y
HHFA 8, Hel €1 3 31 qel @ v wefla 81 ¢, s B o SR e GHI T T 3 S0 B gU g vk
ﬁ%ﬁqmﬁ@ﬂﬁ@aﬂﬁﬁ%ﬂmmﬁﬂaﬁﬁmm%l

%ﬁmmawmﬁm%nwmmmma

(1) 93Y REeS) Wa gdba

(1) $S Radrs] Wl Tobd

Directions: In each question below are given two statements followed by two conclusions mumbered I and II. You have to take
the given two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusion and
then decide which of the given conclusions logically follows from the two given statements, disregarding commonly known
facts.

Statements: No women teacher can play. Some women teachers are athletes.

Conclusions:

(I) Male athletes can play.

(I) Some athletes can play.

(A) () Bad 55Y 1 3TER Ha 2

(a) Only conclusion I follows

(B) (4) Hac s 11 3RO Rl g
(b) Only conclusion II follows

(C) (M ATl 1 31YaT 11 TR Bl &
(c) Either I or I follows

(D) (&) = dl 1 3R A G 11 TR0 Bl &
(d) Neither I nor I follows

Correct Option(s): A



88.

g DI T¢ 3R 3T T AR Uy BT IR
I.Qﬂ?t§§ﬂ§z§§%;§%?gﬁ? T3S T TS &A1 (1 ¥ 6) AR TH 1181
I 3, 6 TGTUR 1, 5 & T 3(Td &

glﬁga s{%qg@u 3R °fTel X8 4T ¢ 79 UId § o 531 07 7R Tt 4 e 30 W ¥ 9fR b 3 3R e
HI
1v. Ulefl SR el U gt & A

ﬁqmﬁ@wwwmaammzmﬁmﬁ,wmmwmmﬁamﬁma@
@ 5 f5w w1 o1 ufafafire o &2

Directions: Read the information given below and answer the question based on it.

I. A dice has 6 sides and each side has a number (1 to 6) and a colour.

IL. 3, 6 lie correspondingly opposite to 1, 5.

III. When you see number 2 and Red surface then you find that the green colour and number 4 are exactly opposite to it and the
white colour and number 1 lies on the top.

IV. Yellow and Blue are in front of each other.

V. When you observe the pink colour in front of you, you find number 2 on the top, number 3 on your right and Blue colour on
your left.

‘Which colour is represented by digit 52

(A) (@) el
(a) Blue

(B) (W) diar
(b) Yellow

(C) @) Teiret

(c) Pink

(D) (8 FeriRor =Y {5 S Sbar &

(d) Can’t be determined

Correct Option(s): A

89.

= Ry g Feadh 0 @ ot 7 g & et R w2

What is the total number of ways to reach A to B in the network given?

(A) (P) 12
(a) 12

(B) (W) 16
(b) 16

(©) (@ 20
(c) 20

(D) (d) 22
(d) 22

Correct Option(s): A



90. HIH1 1 Ug w1 gl Wel 41G g [ I [l it & 1 1 GRRT 18 7 & 9IS ¢ Qb1 98 22 T & U8 §1 S0P

fep O] & S &1 dig 24 73 9 & a1 ¢ 1 H3 H by aie &l A
Y by e

Meena correctly remembers that her father's birthday is after 18th May but before 22nd May. Her brother correctly reglembers
that their father's birthday is before 24th May but after 20th May. On which date in May was definitely their father's birthday?

(&) (P) 20
(a) 20
(B) (8) 19
(b) 19

©Qanis
(c) 18

(D) (4) 21
(@21

Correct Option(s): A

91. 4 S{CT-S{T ST TG, 2 U i aprefl el 3R 3 U SIeft Wb Wl & 99+ & ki) @) e T fett gl

What will be the total number of ways of selections of 4 distinct red balls, 2 identical black balls and 3 identical white balls?

(A) (@) 192
(a) 192

(B) (M) 185
(b) 185

(C) () 193
(c) 193

(D) () 195
(d) 195

Correct Option(s): A

92. 10 fharIH Td & AT 24 b <ad S i & IR 81 6 Roaam o & St 2 Reeun ar9d & ard

P AR §1 3 B YA eI & AT 20,50 S0 1 4 Fpaam T4, 3 By 919 3% 5 faiiom o & @
D] Udl |

The cost of 10 kg of apples is equal to the cost of 24 kg of rice. The cost of 6 kg of flour equals the cost of 2 kg of rice. The
cost of each kg of flour is Rs.20.50. Find the total cost of 4 kg of apples. 3 kg of rice and 5 kg of flour.

(A) (@) 849.40 TR
(a) Rs. 849.40

(B) (@) 877.40 94
(b) Rs. 877.40

(C) A1) 901.60 TG
(c) Rs. 901.60

(D) (9) 815.20 TUY
(d) Rs. 815.20

Correct Option(s): A

93. I A B 560 febeian g, T1act MR Qe HH: 3 - 4 : 1 F U T G| 60% T8, 45% TTae 3R 20% STall &t
maﬁaaﬁésumaaiﬂs?uﬁfm@ﬁmmaamm%w%wmﬁmm%?

Raju bought a total of 560 kg of wheat, rice and pulses in the ratio 3:4:1 respectively. After 60% of wheat, 45% of rice and
20% of pulses are sold; the total weight of the remaining items is what percent of the initial total weight of rice and pulses?

(A) (P) 84%
(a) 84%



(B) (H) 79%
(b) 79%

(©) (T) 86%
(c) 86%

(D) (9) 82%
(d) 82%

Correct Option(s): A

94. U T T 9 | 216000 ST 1 BT <icll 8, 18 ofiF Tl H 16.67% Ufel I8 & Isbafg o011 31 &= @ Aerar oIl

%I:'H't‘ﬁ? SR feciy 9 & <1 ofd A 84000 TTY 3R 58000 FUF TUY IR 4dT § 1 U &I FUCRI B & o0 39
T4 & d1g [l YRI AT ghfle

A man takes a loan of Rs 216000 from a bank, to be returned in three years at a rate of 16.67% p.a. compound interest. The
man returns Rs 84000 and Rs 58000 after first and second year. How much money will he have to return after third year to
settle the loan?

(A) (&) 161000 TGY
(a) Rs. 161000

(B) (M) 138000 ST
(b) Rs. 138000

(©) () 152000 ST
(c) Rs. 152000

(D) (d) 175000 TIF
(d) Rs. 175000

Correct Option(s): A

95. Afeie! (HIfST) waT &l giar &:

The median is always:

(A) (P) T 121 U A §a1U® TRIRAT Y g arell TR g

(a) The most frequently occurring score in a data set

(B) (&) WA 3iep, e ufom & AR (fies) & o A dofas far i

(b) The middle score when results are ranked in order of magnitude

(C) (M BEHE (i) & IHH

(c) The same as the mean

(D) (8 JHEBAH 3R AT bl (B R)® g 3fax

(d) The difference between the maximum and minimum scores

Correct Option(s): A

96. M S 1 T YRHIET &2

What is a definition of the standard error?

(A) (@) THAT &1 A fdaee

(a) Standard deviation of the sample

(B) (0) WURs AN faaeq

(b) Squared standard deviation

(C) CTy THAT HGHH! & 7S fader

(c) Standard deviation of sample means

(D) (8) STREAT HEHT &1 A [qgaq
(d) Standard deviation of the population mean

Correct Option(s): A



97. 315.01.Td. °iIvH 10 H 65 RGaSal & 3a T 90 1 afe < i faenfsadl 1 gor e sran € dr o o s W R

EiGil &y g1 ardl 2 uia Raenfsal & v wHad graaE P g dl I ST T g9
N e whe

The average runs of 65 players in IPL season 10 is 90. If top five players are removed, the average drops by 5 runs. If the runs
of top five scorers are in consecutive decreasing integers order, then find the run of top scrorer.

(A) () 148
(a) 148

(B) (M) 152
(b) 152

(C) () 145
(c) 145

(D) (4) 155
(d) 155

Correct Option(s): A

98. f1d: ﬁ@ﬁg%ﬁg%ﬁﬂaﬁm%mgﬂmﬁmmw {Id A9 18, 22, 19, 25, 12 2

Directions: The average temperatures recorded over a five-day period last winter are 18, 22,19, 25,12
What will be the standard deviation for the above data?

(A) (P) 4.9
(a) 4.9

(B) (@) 5.9
(b) 5.9

©(Me6.9
(c) 6.9

(D) (&) 7.9
(d) 7.9

Correct Option(s): A

99.

fge. ﬁﬂ?ﬂﬁwmwﬁqﬁﬁmmmm&ﬁmﬁ 10 F-as! qe siffafaa fesar

Dirgcﬁons: The number of vehicles sold by a major Toyota Showroom in a day was recorded for 10 working days. The data
is given as —

(7]
<

Frequency
20

olt~|oio s win- g
(4]

10 28

Ty any spemt fraeor wondr e gy sporian %6 wET
Find its coefficientforthe given discrete distribution case,

(A) (@) 24.07
(a) 24.07

(B) (W) 23.08
(b) 23.08

(C) () 25.04
(c) 25.04



(D) () 26.09
(d) 26.09

Correct Option(s): A
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A selection procedure of sampling having no involvement of probability is known as

(A) (P) TH.3R.0Y.35cg, 3fl. 3R,
(a) SRSWOR

(B) (T) FE YRS FAH

(b) Purposive sampling

(©) (7 TH.3R.TH. oY 3R.
(¢) SRSWR

(D) (8) Blg gl

(d) None

Correct Option(s): A



